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L. #fE&3  (30%) : (1) stress & strain, (2) simple shear (3) dynamic
analysis (4) mélange GRFA) (5) pseudotachylyte (18 % K3k 3% ),
(6) Mohr-Coulumb criterion (¥ @B&EA)

2. Please describe the Anderson’ s laws of faulting(Gh# i o4 4
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4. If oy is vertical and equal to 50 MPa, and is horizontal, east-west, and 63
equal to 20 MPa, using a Mohr circle construction determine the normal
and shear stresses on a reverse fault striking north-south and dipping

5. Explain the slip partitioning at an oblique convergent margin (10 points)

6. Explain the brittle regime, brittle-ductile transition and ductile regime in
strength profile of lithosphere (15 points)

7.-What is the fold transposition? What are the criteria to recognize
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